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WY - 3 / SBECTION - A

R WY / Objective Type Questions
qvT g1 18 100 7% % oeiw gy % w9 fwew Ay v # fred |3 o
ot &1 ¥R FRT g7 v @8t frewr wt oMr Yz ov Rifdea w¢ 0 e
so wvl wr IavT ¥ 50 x I = 50

Question Nos. 1 to 100 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR-Sheet. Answer any

50 gquestions. 50 x1=250
. et Tw A e w9fy &1 oe@ Iuger wogus w0 R 2
(A)  EHS W TR B) e wteq g/
(C) T T I (D) wfa =afes areafas g
What is the most appropriate measure of the economic growth of a
country ?

(A) Gross domestic product
(B Net domestic product
(C) Gross National product
(D) Per capita real income

2. P d @ aw ofa oma e R ?

&

(A]  NDP, (B)  NNpg

(C) NDP,,, (D) * NNPpq

Which of the following is equal to National Income ?
(A}  NDP.. (B}  NNP,

(C) NDP,, (D) NNPge

3. B anfweh F @ @ weoErd Rerum $ T@ # 2
(A) r},i},ﬂ/’/ B) HwE
© 9 D) ¥

[

Who aﬁmng the following economists is not of the welfarist

concept ?
(A) J. B. Say (B} Marshall
(C) Pigou (D) Cannan
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.E A, B3R Cdftq avqd &, w8t A ail B §, 9afs A 3 C @WmAHE a5
%:ﬁaaﬁ#ﬁaﬁmﬁﬁﬁmnﬁmwnmaw%m_?

Al it w3t 4, B3l ¢ #) yin fin A,

Bl T AN B Rl A o arwh wafs cag o win d gfe @
(C) Eﬁﬂaﬂtﬁﬂﬂhﬁﬁﬂﬁmﬂﬁﬁﬂﬂﬁﬁﬂﬁﬁqﬁdm
(D) Hﬁﬂaﬂtcﬁﬁhﬁﬁrﬁaﬂwﬁaﬂﬁaﬂaﬁiﬁﬁﬂﬂqﬁdiﬁ?ﬁ

A, B and C are three commodities, where A and B are
complementary, whereas A4 and C are substitute goods. Then what
will be the effect on demand if the price of commodity A increases ?
[A) Demand of all the commodities A, B and C will fall

(B) Demand of commeodities 4 and B will

fall, whereas demand of
C will rise

{C) Demand of commodities 4 and C will fall,

whereas demand of
B will rige '

(D) Demand of commodities B and € will
A will rise

frafafaa § & fras oheds & w1 A afad= i g & o
(A) e gfgds (B) 19 # qfmdy
(©) =9 awur %y § hads (D) %H & w7

A change in which
demand ?

fall, whereas demand of

of the following does not cause a change in

(A)  Change in price

(B) Change in income

{C) Changes in taste and fashion
(D} None of these

6. LR Pier e A wh w aw v g 2 o

(A) & =t 2 (B) a2 =T
(c) forwdd (D)  Hfeut € st 2
|' 25A/12/103 Page 4 / 40
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What effect does a price rise have on the demand for ‘Giffen’
goods ?

(A) Incrcases (B) Decreases

(C) Remains stable (D) Becomes unstable
fyafafiga & / @ @ ) e w3 F g SR-w T wd R e

(A) MC, =TFC, -TFC,_, (B) MC,=AC,-AC,_,

(C) MCy=AVC, -AVC (D) MCy=TC, -TC,_,

Which of the following is the correct formula to calculate marginal
cost ?

(A} MC, =TFC -TFC, , (B) MCy=AC —ACy _,

(C) MC,=AVC -AVC, , (D) MC,=TC,~TCy_,
e, = 0% 34 2 fo =wg i =i

(a) e =g R (B) efa: Aeiteem &

(C) %W weR & (D) 7§ WEER B

e, = 0 means the demand for good is

(A) perfectly elastic (B) perfectly inelastic
(C} less elastic (D} unit elastic

A wd g9F @ ) aeg 6 fiwa 3w gfd oA § aAers g /a0
e G '

(a) @i Py B MWHdyg

© qff =1 Pram (D) qfd wem

Other things being the same, what does the positive relation
between the price of a commodity and quantity of supply indicate ?

(A) Law of demand (B)  Elasticity of supply
(C} Law of supply (D)  Supply function
wn-fa=dz fag 7@ 397 €l @ 9

(A) TR >TC B) MR>MC -~

(C) TR=TC (D) (A) 3R (B) gFI

25A/12/103 Page S / 40
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12,

o,

[ 326
The break-even point arises when
(A} TR>TC (B) MR > MC
(C}) TR=TC (D)  Both (A) and (B)

m%%mﬁmﬂmwnmﬂ?mmwsth

(A)  oveferaeen wdt A T Prererman 2

(B) o1 H sftss umn eleraten # wanfa gy 2
(C) a:ﬁmawﬂaﬁﬁjf&ﬁﬁnﬁmt

(D) Hﬁﬁﬂ‘}ﬁ/

How does a déﬁ:it budget affect the cconomy ¢

(A) The economy comes out of recession

(B) More quantity of money flows into the economy
(C)  More investment wil] be in the economy

(D)  All of these ' ;

TS T2 +41 gran & 2

(A) T =07 T oed Wi 1 e
(B) ‘fi"ﬁ’mmﬁ'{?ﬁmmﬁmm:?}
(€ Frata 3 s =1 s

(D) 1 =97 3 o1 Wiy F1 3=

What is revenue deficit ?

(A} Difference between revenue expenditure and revenue receipts

(B) Difference between capital expenditurre and capital receipts )
(C) Difference between export and import

(D)  Difference between total expenditure and total receipts
nﬁmmﬁ%mﬁ%mm-mmmmm%?
(A) #EM O Aify (B) ot fifgs Hify

(C) (A aﬂI)BJ?fﬁ (D) ¥ | *r Tl

25A/12/103 | Page 6 / 40
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Which monetary policy is adopted to control inflationary gap ?

(A)  Dear money policy (B) Cheap money policy
(C} Both (A} and (B) (D) None of these
14, froafafga § sR-w s sl @ 2

a) fer fatmy @ w1 fufo er gro fe s 2
@) wrag fafima g e Rton sem o (e g ain afogfd)

+ YR T BT B
(C) (a) 3R (B)
(D) ¥ & ® T

Which of the following statements is/are correct ?
(A) The fixed exchange rate is determined by the government
(B)  Flexible exchange rates are determined based on the market
forces (demand and supply of foreign currency)
(C) Both (A) and (B)
(D) None of these
15, fidisa Iearea Ht fadea 2
(A)  Fao cwiusd vl
(B) el AANUSHR

Differentiated product is a characteristic of

(A)  only monopolistic competition

(B) only oligopoly

(C) both monopolistic competition and oligopoly
(D} none of these

16. ' @eh sefeyawn ¥ @NfEs Wi ATE B R 2

(A)  ITM
(B] 30U + Gl&R &3
() feE=

(D)  Fwdr + Praw + g =@ + T PR (X- M)

EEEMIEI 103 Page 7 / 40
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18.

(326 ]

in an open
What is/arc the componcnt(s) of aggregalc demand 1

economy 7
(A) Consumption
(B) Consumption + Government expenditure
(C) Investment
+ Net
(D) Cnnsumptmn + Investment + Government expenditure
export ( X- M)

6 sferen § 7 Ah A qm A Prfufia § feg AW d T
A E P

(A) ol T G (B) ¥ed TR HIEH

(©) m:mhm}e)ﬁ, (D) ¥ A B T

In the l{eyneman economy, the condition of deficient demand 18
called by which of the following names ?

(A)  Full employment equilibrium

(B] Under-employment equilibrium

(C)] Both (A) and (B)

(D} None of these

fafafgad s sum adi 2 2

@A) C= f(Y)

(B) C+5=C+1]

(C) wefemawen § 3 1 Gged W (V) = I Hl G0 T (0 =

TR 1 Tged
. F[ﬁﬁfij/w

Which of the following statements is correct ?

(A)  C= f(Y)

(B) C+8=C+1

(C) Equilibrium level of income (Y) in the economy = equilibrium
level of output (O) = equilibrium level of employment

(D)  All of these
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10. SO U 3T W1 ShEiEa w1 TEen ward w2

(A) Y B) FAAEH

(c) e (D) W e

Who has madec first attempt of National Income Accounting 7
(A) Keynes (B) Kuznets

(C) Gadgil (D) Gregory King

yfafia dorm fagr % it | Prafafea d S-w w0 @d@ 2 2

(A)  avferaren wiw g G ) fRufy o wd

(B) mﬁmﬁmﬁmmﬂmaﬁﬂmqﬁﬁ?ﬁg
(C) (A) I (BTG

(D) ¥ & = T

which of the following statements about classical theory

20.

of

employment 1s correct ?

The economy always remains in a state of full cmp]ﬂymtnt

[A)
uction or underproduction

(B) There is no possibility of overprod
in the economy
(C) Both (A) and (B)

(D) None of these
21. AR P, dqer $md g 3N rmmﬁma?hwfﬂqﬁﬁf&rﬁfﬁm

gt 2
@) P, =P ®) P, >P,
€y P, <P, (D) ¥ A B T

If P, is the equilibrium price and P_ isthe market price, when will

the situation of excess supply arise ?

(A) P =P By P, >F
) P, < P (D) None of these

L

22 m%ﬂwﬁ@ﬁﬁjﬂﬁmm%ﬁﬁﬂ?ﬁ%?

@ e g B)
(C) oM == & (D) ¥ ® T

Page 9 / 40
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: urpose
On what does the demand for moncy for speculative P P

depend ?

(A)  National income (B)  Pricec level

(C) Market interest rate (D)  Nonc of these 2
0a. 7 dwig sgm xRt (MPC) 07 B At dwia w=a wgfa (MPS) F1 e

(a) 07 0-25

(Cy 03 D) =03

What will be the marginal propensity to save (MPS) if marginal
propensity to consume (MPC] is 07 ?

A) 07 (B) 025
(Cc) 03 D) -03
24. Tz # fou o win =@ § @ FH-T A FEER R P
Ya
=3 E
£ o
Eﬂ G
H
> X
© T =h1 G
(37 )
(A) F _ B) E.
C G (D) H |
Which of the demand curves given in the figure is more elastic ?
Ya
e £
=
= F
gl 4 O
- > X
Quantity demanded
[ in units )
A}y F (B) E
)y G (D) H

[[25A/12/103 | Page 10 / &
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-
26

326
wra § Ew Aify w1 wufs Rmaw 2 2 [ |
() e § qeg few @

(B) %ﬂﬁmﬁfﬂf
() SR sfude wgE
(D) AUF FTwE I9F FEAT

What is the primary objective of monetary policy in India ?
(A}  To bring price stability in the economy

(B) Employment generation in the country

([C) To increase trade surplus

(D) To generate greater tax revenue

fafafedd d sR-m s g ¢ ?

A) T A ot o R mw},

B) TR fEE vz d

(C} OD (other deposits) # RBI % g 29 % SR S I i ot
e 2

(D) e o A wE g @ e g w2 o it @

Which of the following statements is true ?

(A}  Supply of money is a flow concept

(B) Notes and coins are legal tenders
(C)]. OD (other deposits) includes deposits of the government of

the country with RBI also
(D] Supply of money includes stock of money held by the

government also

ey F g fe 9 e w0 A 8

(A] 9% g0 WIH I§1 U A FH
(B) 3% g iR w1 iy @ HAfue-
() mmmmnﬁr%w

(D) wd & HI§ &

'5A/12/103
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Loans offered by commercial banks arc
(A) Less than the deposits received by them
(B}  More than the deposits received by them

(C) Equal to the deposits received by them
(D) None of these

28.  wfla qw o A IO KR W gl R o

(A) X9 TG B fed W@ w i 9fg =
(€ @il vioffoal @l (D) e sfgfoat Seew
How can the central bank increase the availability of credit ?
(A) Increasing repo rate

(B) Incmaﬁng reverse repo rate

(C) Buying government securities

(D) Selling government securities

=1 g 39 9T TET T LRR (Legal reserve ratio) %1 f&ea1 wgeran 2

(A)  SLR (wifafas wem sq9@) (B) CRR (792 ®i9 FHAUTA)
(C) W (D) fEd =

The part of LRR ( Legal reserve ratio ) kept by the banks with
themselves is called

(A)  SLR ( Statutory liquidity ratio )
(B) CRR { Cash reserve ratio )

(C) Repo rate

(D) Reverse repo rate

30. 9% X fw W 5 O wmofis §5 F o ) st
eI ur o g, ST Fea & ?

(A) T . (B) Fad @&
(C) %2 ®W 3@ (CRR) (D) wifafiss ateten 319 (SLR)
25A/12/103 Page 12 / 40
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The rate at which central bank lends money to commercial banks
for immediate cash requirements is called
(A] Recpo rate
(B) Reverse repo rate
(C) Cash reserve ratio [CRR])
Dl Statutory liquidity ratio (SLR)

31, aﬁﬁﬁwmmmﬂa@mﬁwﬁnﬁmﬁ mﬂﬁﬁ
(A) BT T (B) ﬁnaﬁﬁﬁargg”
(C) ﬁ'l'ﬁt_'[_:lﬂq (D) gq;q}-ﬂ'q '

What are those goods with negative income effect and positive price
cffect called ?

(A) MNormal goods (B) Inferior goods

(C) Giffen goods (D} Complementary goods

32, TwE =R
(A) ITufE 91 - S A
(B) wrufi €@ + S A
(C) T BIHT & =44 - FT GERI H A
(D) ¥ & HIE T

What is fiscal deficit ?

(A) Primary deficit - Interest payments

(B) Primary deficit + Interest payments

(C) Total expenditure of the government — Total income of the

government
(D) None of these

33 ymEiwieM PR A d fFe TmEd R ?
(A) ¥ TER H T (B) T EET

(C) mmmmﬁj}mfﬁﬁﬁaﬁéqﬁ
Who among the following gets the benefit of income tax ?

(&) Central government

(B] State governments
(C) Both the Central and State governments

(D) None of these
[ 25A712/103 Page 13 / 40




34. f=fafea § @ s oo wif ol 8 2

(A) =l &) aqa-?]
() wrdafm anRil & @

(B)
(D)

fertafl st[&

auten e

Which of the following is not a revenuc receipt 7

{A) Recovery of loans

(B) Foreign grants

(C)  Profits of the public enterpriscs

(D)  Wealth tax

35. W@ =g, 9 R ¥ R fed ufwmfi w gaa ol wea, weedd

(A) UTIE &

© (&) 3 (@)

(B)
(D)

¢sfima =1
v @ wrf 7l

The expenditure which does not create assets for the government 1s

called

(A) Revenue expenditure
(C) Both (A} and (B)

(B)
(D)

36. fafafead @ FfF swma s Al 8 2

(A) I qeH
(C) € o=

(B)
(D)

Capital expenditure
None of thesc

qoafe &
HaT HT

Which of the following is not indirect tax ?

(A} Excise duty
(C)  Customs duty

37. A9R 4o wEi-ud 8
(A) IATIHTAR =T
() wfa drefwrefia g |

Market price is related to
(A)  Short-run market
(C) Very long-run market

(B)
(D)

(B)
(D)

(B)
(D)

Property tax

Service tax

SreepTE TN B
g At
S

e

Long-run market
All of these

25A/12/103
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39.

40.

[ 326 ]
saeaq 98 Sikar & sl
(A) SRS WA dge ) fRufy § gun fan @
(B) WHR @WE 3w gie] qg 1 qe faef g F wer 6 R
) (A} F(B) el
o) ¥ A P

Devaluation is the process in which

(A} the adverse balance of payments situation improves

(B) the government itsell depreciates the value of its domestic
currency in terms of foreign currency |

(C) both [A) and (B)

(D) none of these

7 ) 3w ) PR Rifme w5 fybon e ated % g @ 2, &
78 wHR S Tafma g =t =8 o @

a) far fafma o (B) Hﬂiﬁﬁﬁﬁﬂﬁ'ﬂ

() waEftm dwh fafma = D) wEEPY

When the foreign exchange rate of a country is determined by
market forces then what is this type of exchange rate called ?

(A)] Fixed exchange rate
(B) Flexible exchange rate
(C) Managed floating exchange rate

(D)  All of these

A i @ #19 gasdE o @ g7 9 W g ?
(A) FEehifaed gaE (B) whIfawl qEE

|
© (a3 B D) T FE T
Which of the following's a danger from fiscal deficit ?
(B) Inflationary pressure

(A} Deflationary pressurre

(C)] Both (A) and (B) (D) None of these

EEF-HE;IGE

Page 15 [/ 40
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43.

(3267
F9 FI AW R A @ a3 | T AWE 93 2
(A)  3itwa amm (AR) ¥ firrae smorh
(B) aftwa avm (AR) ¥ gfg g
(C) aftma amm (AR) Mt @R @M
(D) 3ffwa W (AR) T H§ g Td

When total revenue is constant, what will be the effect on avcrage
revenue ?

(A) Average revenue [AR) will fall
(B) Average revenue (AR) will increase
(C) Average revenue (AR) will also be constant

(D) No effect on average revenue (AR)

RN Fmsaamas mdR @ H A a2 9 g g @
R T R 7 |

(A) Heg > Hwra 3w (B) WA = €W YT

(C) Hed < dtwr=a 3w (D) ¥ B/ +§ 7

If a firm’s total revenue curve takes the form of a straight line
which passes through the origin, then

(A) Price > Marginal revenue (B) Price = Marginal revenue
(C) Price < Marginal revenue (D) None of these

3fe $& AW 1,00,000 Fo & I 20,000 A2 A1 A1a1 & qF IFa W
TS gPM |

(A)  1,00,000 %o (B) 20,000 %o

(€) Sﬁv)(. (D) 1,20,000 %o

If total revenue is Rs, 1,00,000 when 20,000 units are sold, then
the average revenue will be equal to

(A) Rs. 1,00,000 (B} Rs. 20,000

(C)] Rs.5 " (D) Rs. 1,20,000

254127103 | Page 16 / 40



44,

@Anz;lﬂa

| 326 |

v w4 Bl I B st o Faw ww Fow w0 A A= oo 2, @
F8 -8 T 99 Tt 2, o R o v w26 p

(A)  FEa 3 H sfus (B) = Hwa A0 B

(C) HHa 3T & " (D) 1

A firm 1s able to sell more Guantity of a good only by lowering the
price. Then what would be firm's marginal revenue, as it goes on

selling ?

(Al  Greater than Average revenue
(B} Less than Average revenue
{C) Equal to Average revenue

(D) Zero

fan mu fa o IemeE @ Haer e fag wowm gl 2 2
&

Y
E = P MC
Ee "‘Uf/ MR
(7 . » ¥
fofe (3ard )
A} K B L
€ (a3 (B)FL~ (D) ¥ A = 7

In the given diagram, at which point is producer's equilibrium
achieved ? '
In the given dia‘p:ram, at which point is producer's equilibrium

achieved ?

I
Y I
S MC
ea | & e
o —
z
9o * X

Qutput (in units)
(B} L

A K
(D) None of these

(C)] Both (A) and (B)

Page 17 / 40
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46. Trafufea § § ¥ s & @Al 6 e F 9f % afom @ 2
(A) it =% § Rl A sy
(B) qﬁfﬁﬁmﬁaﬂtm
(©) fi & Rran
(D) “ﬁﬁ#ﬂﬁr—r

Which one of the following is the result of increase in price of
factors of production ?

(A)  Rightward shift in supply curve
(B)  Leftward shift ™ Supply curve
(C) Expansion in supply

(D) Contraction in supply

47, Prafefes f  off o s @ S, S, -3 wriaRa g Fo d 2 »
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In the following figure, the supply curve shifts from 88 to 8 8 due

to what reason ?

y £ 3
g
g P
bs
£

O Q Q,

Quantity supplied
[in units}
(A} Decrease in taxes (B)] Upgradation of technology

(C) Fall in the price of inputs (D) All of these

48, T ¥ wdd waw 3 frem 6 @aFa Fae 499 2

(A) oqTafy o B) Hufafy &

€ (A3 (B) 3L (D) A (A) 37 (B)

Freedom of free eéntry and exit for firms is only possible

(A)  In short-run (B] In long-run

(C}] Both (A) and (B) (D) Neither (A) nor (B)
49, fafafiga § # -9 fasea Fima a7 arelt o 1 TH2 2

(A) TR=PxQ (B) AR =Wc4

(C)  RUNCHS goliA arell WM FH(D)  H= AT[ = e

Which of the following is not a dharacteristic of a price taker firm ?
(A} TR=PxQ

(B) AR = Price

(C) Negatively sloped demand curve

(D) Marginal revenue = Price

50, fifys %1 fatiunng <8 IR B R ?
(4) &g F $Wa TG F T8 A w0 =gl R

(B) %] il Hmad 954 | & =i ozl 2
(C) {MW{EJM
(D) 3z & = T

[ 25A/12/103 Page 19 / 40
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When does Gilfen's paradox arise ?
(A)  When demand for a good incrcascs as ita price increases

(B)  When the demand for a good decrcases as its price increases
(C} Both (A) and (B)
(D) None of these

S1.  am witveumew it #imia o wrman wg o 8, T Igrdn @ B
(A) =S it g gan Iwe

(B) X H 3 g v e

(C) A &t i g o il T

(D) TR AN FgH g2 I

If marginal rate of substitution is increasing throughout, then the
indifference curve will be

{A) downward sloping convex
(B) downward sloping concave
(C) downward sloping straight line

(D)  upward sloping convex

52. TSR ud T 9 W 3R w6 e wewd 2 o
(A) = TrE 1 giy ek (B)  wtwnTh =qa ¥ wdte =k

() (A) 3 (B) @i _— (D) ¥ & wrd A
How can fiscal and budgetary deficit be reduced 7
(A) By increasing tax revenue

(B) By reducing government expenditure

(C) Both (A) and (B)
(D) None of these

53. IPM %4 C= C+CY,H C W& Ccwam: wn 8 »
(A) T IwEm e dara Ioam gyt
(B) Himra 3w ggfe vd wamgm amim
(C) T IndrT ud 3i|e Indi wgfy
(D) T |/ Frd T

[ 25A/12/103 -
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In the consumption function C = C +CY, what are C and C

respectively ?

(A) Autonomous consumption and marginal propensity to
consume

(B) Marginal propensity to consume and autonomous
consumption

(C) Total consumption and average propensity to consume

(D} None of these

54. siaa IaTE TH B STFER Al B
(A) A& U A (B) Jed HE UM

©) H*“‘S'V (D) IR HE s A

The shape of average product curve is
(A} like the letter U’ (B) like an inverted letter ‘U’

(C}  like the letter S’ (D) like an inverted letter S
s5. af:wi wE qfd 9 QA gril i weA e § e S € @

@) TR e wa e # g e

(B) Wf&!fbﬂ%iﬁﬁmﬁq&@aﬁ

©) ¥ea wdm fegwa 6w fow el

(D) 7 A Fg Tl

If both the demand and supply curves shift to the rightward in the

same proportion then

(A) the price of the
increase

(B) the price will remain constant but the purchased quantity
will increase

(C) the price will in
remain constant

(D) none of these

commodity and purchased quantity wil

crease but the purchased quantity wall

Page 21 / 40
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56. Trw wwn % ool f ddE@ d MC = MR = AC=AR Em ¥ ?
(A}  vamftrail) wrd (B)  wuifreerf) wd
(C} qui whwirft (D) A wr Tl
In which type -:rl'rﬁrma is MC = MR = AC = AR in the long run 7
(A) Monopoly firm
(B] Oligopoly firm
(C) Perfectly competitive firm
(D) * None of these

57. fafafiga 4 @ «% hify fed srderaren % foe wdom sugwm Bl 2 2

a)  sfaedfy B) Tt whify

€ = whifa (D) et whifw

Which of the following inflations is most suitable for an economy ?
(A) Hyperinflation . {B) Creeping inflation

(C) Walking inflation (D) Running inflation

S8. ‘oted 9’ ¥ U 2 H A w1 B & 2
(a) FH=n (B) |

(C) W/ (D} =|

What is the value of interest rate in Liquidity trap’ ?
(A)  High (B) Low
(C)] Minimum (D) Average

50. % g Wg® wEA fem e o s 2 e

-

P
(A)  oft=dl TR B) e s~
(C) e HA . (D) AR HTE
The machine used by the firm is what type of input ?
(A) Variable input (B) Fixed input
(C}  Total input (D}  Technology input
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60. A% & TA TN HI 98 3w W T owrwalait w3 F o q@we @@ g,

wEeTal 8
(A) @IfafTs atem e (B)  wehg s f&a SiH1 3T
(€ G AR e (D) i & @

That portion of a bank’s total deposits which the bank keeps in
cash to pay to its depositors is called

(A) Statutory liguidity ratio

(B} Cash reserve deposit ratio

(C] Open market operation

(D) None of these

61, f=fafiga § @ 19 arafas fRw 3@ 2 »

(A) I gl B) guft &t mltem
(c) et %1 famfor (D) &% H I @rar Wed

Which of the following is not a real investment ?
(A} Buying share

(B} Buying an old factory

(C} Construction of building

(D) Opening a deposit account in a bank

62. P ddsA-AIFHATA R ?
(A)  =w ) Wi IeEH g A A 2
(B) s <61 nin I IaeEa W i w2
(C) mﬁmm@mw@ﬁ?ﬁ%

) AP

Which of the following statements is correct ?

(A) The demand for labour is made by the producer

(B) The demand for labour depends upon its productivity

(C) The marginal productivity of labour is its maximum wage

(D)  All of these
25A [ : Page 23 / 40
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63, vl w5 A A S B € 7

n) AR (B) FIHER

(©) ol |@EER (D) Uil aeiEEr
What is the type of demand curve of Monopoly ?

(A] Inelastic (B) Elastic

(C}  Perfectly elastic (D)  Perfectly inelastic

64, o9 tEn 6 gt Bl @

P /

.U

x 1
(A} = B, (B) P
N/ x
n P_:l:' FIH
€+ 5 Dy + 5
¥ X
The slope of the budget line is
Px PH
(A) - P B) - P
) x
Px D FH
<)+ 'E Doy + F;
65.  IgaIfial &1 wHaras fagma frad fem 2
(A) Lng_ji — (B) di
(c) fem (D} TrwrEt
Who gave the ordinal theory of utility ?
(A) Marshall (B] Pigou
(€) Hicks (D) Ricardo
66, (udiiafad 3w fRr arm adf 2 2
() # e (B) &=

© FRuR A Afa (D) %) =1 frma
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which of the following is not a fixed cost ?
(A) Insurance premium (B] Interest
(C) Cost of raw materials (D) Factory rent

mﬁﬂ%mmmﬁmﬁﬂhﬂmﬂﬁwﬂ

67.
(a) fewgl- (B) STed
(€] Eﬂﬁ (D) #
Who among {he following gave the concept of time element in price
determination process ?
(A) Ricardo (B) Walras
(C} Marshall (D) Pigou
68. ﬁm%f@ﬂﬁﬂmmﬁwﬁmmmmﬂmi?
() o e (B) IR
(C) UHIUHH o wHITR
' e
In which of the following markets output is higher and price is
lower ? )
(A) Perfect competition (B) Oligopoly
(C) Monopoly (D) All of these
69. ﬁﬂ%ﬁaﬂﬂﬁmmﬂaﬂfiaﬂmmmmﬁmmﬁm% ?
(A} UHIG (B) eI e ﬂﬁﬁ%
() ol Rt (D) T W HIg T
In which of the following market conditions is the Average revenue
curve more elastic 7
(A) Monopoly (B) Meonopolistic competition
(C) Perfect competition “ (D) None of these
70. mmmawmﬁmﬁmﬂmmm
T §?
A wh smafas sead & (B) grfafs & % 4
(€ & i & IR S —
—— Page 25 / 40
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72.

73.

[ 326
Which Banks are covered under the sector of Banking Ombudsman
Scheme ?

(A} Al scheduled co-operative banks
(B) Public sector banks

(C) Regional rural banks

(D)  All of these

Ueqst 1 ! weay safere wE wra & ifE  d@id Sgen Sma R

(A)  Jearied SEgHl W IAEH H

(B) &9 T A ) fashmat B

(C) Tegan & wieni @

(D) ¥ sfa +@ Tt |

Direct tax is called direct because it is collected directly

(A) from producers on goods produced

(B} from sellers on goods sold

(C) from buyers of goods

(D) from income earners

A H IFEAEAISAT B wH FA F e w-di Aot Igaeh € 2

(a) g Hifaat (B) wrwte e Hifeal
C@ Twdrg Afaat (D) faeh Aiftai

Which policies are useful to reduce inequalities.of income ?

(A) Monetary policies (B) Public distribution policies

(C) Budgetary policies (D) Foreign policies

o FHI A A B/ At @< w6t @ 7= gioms w0 ghm 2

(A) wre wftew (B) HTR W -an

() L == (D) Towa =g

When government spends more than it collects by way of revenus
then what results ?

(A) Budget surplus (B) Budget deficit

(C) Capital expenditure (D) Revenue expenditure

_..--"ﬁ
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| 326 |
TR IR ¥ THqeR B @ w0 ¥ R siww sge H aH T
wwfg fafown 2 2
(A) Taeeht = FreEw B) FRfg fraaw
() fafa faam (D) e FrEEd
Which is a popular method mostly used to resolve disequilibrium of

balance of payment ?

(A) Foreign debt control (B)] Exchange control
(C) Export control (D) Import control

-

Fo fRR AT a% F1 NHA &

(A) U-HATHRIT F1 (B) H & A FgH A
(C] Jeel S-HTHK FI (D) x-H& & gwiat afos dhdt @
The shape of total fixed cost curve is

(A) U-shaped

(B} Downward sloping

(C) Inversely S-shaped .

(D) Horizontal straight line parallel to x-axis

#1-3 2 9% MC 9% g 3% <[Fau T4 T TH At F F2d @ ?

(Al  AC 3t AvC (B] AVC 3R AFC

(C) AC 3 AFC (D) AC 3 TVC

Which twe curves are intersected by MC curve at theirr minimum
points ¢

(A] AC and AVC (B] AVC and AFC

(C) AC and AFC D) AC and TVC
a7 @E St 3eed we g a ot @t g AE wdl, weendi

(A)  IETH FH_— (B)  Hel =ITd

[C) T8 &1 (D) H&E &rid
The cost which is never zero even when production is stopped is
known as

(A) Supplementary cost (B) Pnme cost

(C) Explicit cost (D)  Implicit cost

| 25A/12/103 |
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78. Frafafige § @ - & vl ¥ Rro ufradeiter w2 2

(A) =N @ & (B) wifis fRTan

(C) ¥ $ frm (D) wd=fEt # e
Which of the following ils a variable cost for a firm ?
(A) Interest on loan (B) Monthly rent

(C) Insurance premium (D)

79. Pafmd Rumaw sR-mawmd ?

A

Wages to employees

L

o HHA (¥ H)

> x

fim (31 #)
(8) INwa siEdTsie &vm 9% (B)  Fo wRadTeie W@ 9%

(€) 3tuw fow ara % (D) 3Hd AT 6

Which of the following curves is the curve shown in the figure ?

o Cost (in Rs.] «
»

> X
Output (in units)

(A)  Average variable cost curve
(B} Total variable cost curve °
(C) Average fixed cost curve
(D) Average cost curve
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80.

aﬁaﬂmmmmmmmmgmmwmﬂmﬁm?
(A) ﬁ?ﬁlm‘nwgm (B) Afts #if @
(C) mﬁr_aﬁxgmrgan (D) 3 S-ATHN &1

If the average revenue curve is a horizontal straight line then what
will be the marginal revenue curve ?

(A)  Downward sloping (B)  Horizontal straight line
(C) Upward sloping (D) Inversely S-shaped

81. fr=fafem & @ #=-w g m#mqﬂmt?
(A) wmﬁrggaﬁlmqaﬁuﬁwﬁfﬁn J
(B) & & Fiya § froae
(C) WM Y&=g & 41 7Y
(D) wWE § @raE IWRA

Which of the following does not come under microeconomics ?
(A) Pricing decision by Maruti Suzuki

(B) Fall in the price of oil

(C} Measurement of the general price level

(D) Production of foodgrains in India

O mﬁﬁmmﬁ
(A) mmﬁmﬁﬁamﬁmw%ﬁm%
(B) NFh =015 %) F& w9 w79 7% % ™ g @ 9
(C) wuTa W9 dftm ganEl w1 ve v 4 s 2
(D) A Hifa g=oatl A qft @' ¥ FA wge i

In economics we study

(A) How society manages its unlimited resources
(B) How to reduce our wants until we are satisfied
(C) How society manages its scarce resources

(D) How to fully satisfy our limited wants
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[ 326 |
maamnmﬁnﬁnﬁ%&mmmﬁm%mﬂfﬁﬁﬂ*m
et &1
i} 30,000 %72 WfmR 359 W wFEEZ F w H wH HEAT
(i) 25,000 ¥R WfETE do W dew A & 7@ H FH A
fo Mo WS o IEh EE S wm Eeft
(A) 25,000 %o (B) 30,000 %e
(C) 35,000 %e (D) 65,000%0

Rajesh is working at a salary of Rs. 35,000 per month. He receiwves

two job offers :

1) To work as an accountant at a salary of Rs. 30,000 per
month

ii) To work as a sales manager at a salary of Rs. 25,000 per
month.

[n the given case what will his opportunity cost be ?
(A) Rs, 25,000 (B] Rs. 30,000
(C) Rs. 35,000 (D) Rs. 65,000

ﬁiﬂﬁﬁﬁmmﬁ-{?mlmﬁﬁﬂﬁﬁ%Bﬁﬁiﬁ
UL

=

: g‘ a

o Q=
(A)  rdemEsn ® mft gEaEt 1 faww

(B) ﬁmuﬁima:qrmﬁm_

(C) E x i At FHE TN T y T HEE B 3OS
(D) Eﬂyﬁmmﬁﬁwaﬁxﬁmm‘ﬂm
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In the given figure, the movement on the production possibility
curve from Point A to Point B shows

A
=)
g B
»
O Good x

(A)  Growth of all the resources in the economy

(B}  Underutilisation of resources
(C)  Production of more units of good x and less units of good y

(D) Production of more units of good y and less units of good x

Tz 92 ° e &

(A) @ agat & 3 it gl Fred smite ag T8 R aehdl 2
(B) 3 @3l % 3 @f g R Iniie et AN 2
(C) aa@ﬁ%émﬂéﬁmﬁ%mmaﬂm%

(D) ¥ A w7

Budget set includes
(A) All those combinations of two goods which a consumer

cannot afford
(B) All those combinations of two goods which a consumer is

willing to buy
(C)  All thosc combinations of two goods which a consumer can

afford
(D) None of these

U aeg % AHel § I dgeH @ ST g R o
(A\ MU_>P, B) MU_ <P

(C) MU::FK (D) MUI=PK
In case of single commodity, consumer’s equilibrium is achieved

when
(A MU_> P, (B) MU, <P
(C) MUI # Px (D) MU: - Px
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87. Serdien T frvew & wed § MRS 1 314 2
(A) dimra st (B) Hmra wqfE
() aﬁ@wﬂﬂm;ﬁwm] aqfe w1 dmra wfawa
In the context of indifference curve analysis, MRS stands for
(A) Ma,rg,:inal rate of substitution
(B) Marginal rate of satisfaction

(C) Marginal return of substitution
(D) Marginal return of satisfaction

88. mxaﬁﬁmmﬁm[wxj=n,yaﬁﬁmwﬁﬁm|
[r«myhnqéymrﬁgm%,ﬂﬂxmqﬁﬂgm%mmw

& ?
(A) 9%o (B) 30%o

©) 158 (D) 127%0

If Marginal utility (MU ) of goods x = 0, Marginal utility {MUy] o

goods y = 0 and the price of y is Rs. 9, then what will be the pric
of x at equilibrium level ?

(A) Rs.9 (B] Rs. 30

(C) Rs. 15 (D} Rs. 12

go. f md fax # = @ %1 Yo feas wRm R

& A Ay

A) H9 & fma o (B) ﬂaﬁaﬁqﬁ[ﬁqﬁé

€ FmAhFmiAfs o) IwAHwITN
[ 25A/12/103 San 71k
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In the given figure, the rotation of budget line is due to

L x
0 A A
Apples

(A) Decrease in price of apple
(B) Increase in price of apple
(C) Increase in price of banana
(D) Decrease in price of banana

Q0. U 3 F uwe & =g fafy & syia feefafiga § | fea =391 =1 wfas
feren s 8 2
(A) Taw == (B) U=
(C) ®BEgH W AEH 4G (D) 919 vd 918 97 =99
Which of the following ecxpenditurcs are included under the
expenditure method of measuring national income ?
(A) Investment expenditure
(B] Pension
{C) Government expenditure on scholarship

(D) Expenditure on shares and bonds

91. TF=fafegs & @ +%R-m =0 Faan A oaas [t adi g »

(A) T o IR A feand (B) w H diurg smEEm -
P

(C) e HY W@ (D) &% T I

Which of the following is not a quantitative method of credit

control ?

(A] Open market operations (B} Marginal requirement of loan
(C) Cash reserve ratio (D) Bank rate ratio
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B

afe pzhifa =) Prifya w2 A s
(A SLRag & 3 CrRr "o B

(B) SLR =i ? 3 CRR 73 2

(C) CRR 3 SLR 31 %) =g 2

(D) zad 4+ 98 )

If inflation is to be controlled, the RBI
(A}  raises SLR and lowers CRR

(B] lowers SLR and raises CRR
€] raises both CRR as well as SLR

(D) none of these
93.

(A) 99 39T g A A IO 3R B

(B) 99 %1 uqrews gl R 9 awd oo 2 2

(C) 5@ M 7= Al 399w B 2
(D) 519 W A B Al I99 YA B 3

When consumption function intersects on the uyaxis,

indicates that

1A} Consumption is zero when income s zZero

(B]  Bawving is negative when income is positive
(€} Consumption is positive when income is zerg
(D)

Saving is positive when income ig ZETO

94. I MPC = 1 2, § TF HAH TR o

(A) O0® =W (B) Daﬁtlﬂ}, q_
© o D) s
25A/12/103
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If MPC = 1, then what will be the value of multiplier 7
(A) Less than 0 (B) Between 0 and 1
< o (D)  Infinity

95, HWHAXAFHEI WAL ?
(A) I F w g R (B) IuUR 1 %A g}
(C) =@ Wrearfia gran ¥ D) 3un ¥k ad F gfe O R
What happens when interest rate goes down ?
{A) Decrease in consumption |
(B)] Borrowing decreases

(C) Savings are encouraged

(D) Increase in borrowing and spending

96. Win H Ff F P FA F ToHAT 7 w1 R ?
(A) EEAAE F=/O F wH
(B) ®1R it faw =g
(C) wEaH® =g H gfg 3 =it § =4
(D) ¥ @ Tl
What is a fiscal measure of c:nrrecti:ig deficient demand ?
(A)  Decrease in public debt
(B) Defhcit financing

(C) Increase in public expenditure and decrease in taxes

(D)  All of these
97. @uu Hin 9% B

..—-—"'--_ -
(A) A= H AR TEH (B) FR A1 AN geh1 B3N
(€) (mFu (B A (D) ¥ ¥ = 3
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Aggregate demand curve is
(A} downward sloping (B) upward sloping

(C) both (A) and (B) (D) none of these

98. yeha saua fref g awtar 2 2

(A)  3rqgiy w@in B) e =i

€) o e (D) T &+ Tl
Deflationary gap shows the measurement of

(A)  Deficient demand (B) Surplus deman_d _
(C} Full employment (D} MNone of these

99, Ffefr i A SR om wfn =i 2 »

(A) U i et (B) U 3 i
(C) & HIE (D) faeeht srEm
Which of the following is not a revenue receipt ?

(A)  Recovery of loans (B) Fees and fines
(C) Collection a_t‘ taxes (D)  Foreign grants

100. WA & FHT a0 F1 Hel UeF +7 & 7

(A) T9E g9 (B) ¢ swe
(C) (A) 3R (B) A (D) ¥ & = 78
What is the correct component of the union budget of India ?
(A) Revenue budget (B] Capital budget
(C)  Both (A) and (B (D) None of these
25A/12/103 Page 36 / 40




| 326 |

WYY - ¥ / SECTION - B
Y I W97 / Short Answer Type Questions

W @ET 1% 30 7y g § 1 P 15 WA & Faw § ) 99w R
2 5% fuifia §1 o3% 397 40 - sovat # frd : 15x2=30

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions.
Each question carries 2 marks. Write your answers in 40 - 50 words each :

E'JI

10.

15 x 2 =230

A4 TP (H ITQ) wgdl o & w3m @ MP (dard Ieqre) F1 w1 A 2

What will happen to MP (marginal product), when TP (total
praduct) increases at an increasing rate ?

for sl @ a9 T gaga # 2

What do you mean by fixed factors ?

gftadeier &ma % 21 3grew v

Give two examples of variable costs,

fer au deavfte g e d s st 2 7

What is the difference between fixed and flexible rates of
exchange ? .
e 91E Ug srfufawd § @y s R 2

What is the difference betveen cash credit and overdraft ?

wiT & A= w1 fia 8 2

Why does demand curve slope downward ?

wifafie® e Jq9a (SLR) el wzd & »

What is statutory liquidity ratio (SLR) called ?

Afates /I 39 B & o) HEeyel Sl #) qary|

State two important reasons by which excess demand is generated.
i 3ot wgfe @ @ 2

What is marginal propensity to consume ?

smféles gaen w4l 39w B @ 2

Why does an economic problem arise ?
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11.  aufy aretomw =) afnfa i)

Dceline macroecconomics,

12, IUTRA WMTEAT 9 HW 1 N TUriald Bidn & 2
When does production possibility curve shift to the right ?
13.  uwIfvsr 6 Q) geu ffvand = € 7

What are the two main features of monopoly ?

14.  I=aq Hira dm Bubor @ 70 afom § 7

What is meant by determination of price ceiling ?
15. 50 9% % Q vy s@] %) We &
Explain the two main functions of central bank.
16. W & T 91 R ?
What is deficit budget ?
17. o sfodtfvar & AR 7on MR w1 ) Yarfaw qr Ramw

Show the AR and MR curves in monopolistic competition through a
diagram.

18. AN AgeA # F- 7 wmive ) oredt & 7
Which items are included in balance of trade ?

19. mﬁmmaﬁﬂﬁﬁ?ﬁmﬁ%mﬁtﬁmm%?

Out of the three concepts of revenue, which is also known as
price 7

20. mmmmmmﬁm%a’tmaﬂtmnmmmw
e

What are the shapes of AR and MR curve
at the same pn“f ¢

21, weREgEA L 2
What is market equilibrium ?

22. I IE T e e ) wfonfye Hifigg

Define normative economics with a suitable example,

s, when each unit is sold

25A/12/103
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25.

26,

27,

28.

29,

30.

(326 |
wfeeenes i divrg e =) yfonfa wi

Definc marginal rate of substitution.

F9 @1 AR ) 3] e et ;7

Why does the budget line slope downward ?
whif st qur srmehifae sroe 3 w9 AR R P
What is the difference between inflationary gap and deflationary

gap ?
13 1 3 yga gu Am hI qf 9% F B E P

What is the reason for the backward bending labour supply curve ?

qEHI w92 & fol 3 sewdl 1 wwesC

Explain any two objectives of government budget.
FAYE® ITA TR ?

What is ordinal utility ?
& S | w1 aredd g P

What is meant by complementary goods ?

i faftr & srgem win 6 S o TR w1 g7 AR

Give the formula for measuring price elasticity of demand
according to percentage method.

19 TG W77 / Long Answer Type Questions
qYT AT 31 § 38 AF 19 I WA E | [T 4 99A & ITF | ORF &
forw 5 of® ffta &1 97 377 A9F 100- 120 7RI H 3 : 4 x § = 20,

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 question.g
Each question carries 5 marks. Answer in 100 - 120 words each :

3l. WARIEE Wi G qeedl 95 9 AR GH T o I | R

Explain why an indifference curve is downward sloping and convex

-

to the origin.

P -

gl B et v b g ) aig A qid @1 Rules @ 2 sren

|

Vs tee ical progress terminant of supply of a good by
How is technolopical progress o determ pPpiy good y

n fiem ? Explain.



34,

37.

I ?':fﬂ |
Teafty wra Praw v § 7 ap wat o N B 7 |
What is the law of diminishing returns ? Why does this law becory,
operative ? .
fazoft fafrwa 2o w) dftufen Fifan) fear am =g ffamg 7 4 o,
il

Define foreign exchange rate. Differentiate between fixed 4ng4
flexible exchange rates.

% 3-4dm wdoraen § s %1 9k wEm aem)

Explain the circular flow of income in a two-sector economy.
AHY A 1 HAA F10a W 9919 ) w93 99

Explain with diagram the effect of time element on equilibrium
price,
hﬁﬂwﬁmmﬁﬁmwammﬁmﬁhﬁm
el

Define investment multi plier. ’What i8 the relation between
investment r. . iplier and marginal propensity to consume ?
wh%ﬁmfmlﬁammﬁﬁm%ﬁaﬁﬁnhaﬁmﬁam
a4 %1 gf aac:f F1 319 7

Explain the law of demand with the help of diagram. Describe any
five factors that affect the demand for a commodity.



